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1. Ammonia can be dried by

A. conc. H2SO4

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lEb9Sz9MBFsK


B. 

C. anhydrous 

D. None of these

Answer: D

Watch Video Solution

P2O5

CaCl2

2. Ammonia is

A. polar solvent

B. non-polar solvent

C. paramagnetic

https://dl.doubtnut.com/l/_lEb9Sz9MBFsK
https://dl.doubtnut.com/l/_2GUcgmZ9L8V2


D. diamagnetic

Answer: A

Watch Video Solution

3. How is ammonia manufactured industrially?

A. 

B. By passing an electric discharge in a mixture of

 and 

C. By reducing the by product nitric acid

2NH4Cl + Ca(OH)2 → CaCl2 + 2H2O + 2NH3

N2 H2

https://dl.doubtnut.com/l/_2GUcgmZ9L8V2
https://dl.doubtnut.com/l/_4DCltEqeSP74


D. By passing a mixture of  and  under high

pressure and moderate temperature over a

catalyst

Answer: D

Watch Video Solution

N2 H2

4. Substance soluble in ammonia is

A. 

B. 

C. 

Al(OH)3

Fe(OH)3

Cr(OH)3

https://dl.doubtnut.com/l/_4DCltEqeSP74
https://dl.doubtnut.com/l/_bP9We4jwXqOO


D. 

Answer: D

Watch Video Solution

Cu(OH)2

5. With Nessler's reagent ammonia gives

A. white precipitate

B. violet precipitate

C. blue precipitate

D. brown precipitate

Answer: D

https://dl.doubtnut.com/l/_bP9We4jwXqOO
https://dl.doubtnut.com/l/_T0cbt1SBk9gn


Watch Video Solution

6. Ammonia is soluble in water because it is

A. a polar molecule

B. an acid

C. a base

D. a single covalent compound

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_T0cbt1SBk9gn
https://dl.doubtnut.com/l/_1rdzMwZ1y1J0


7. Which does not form complex compounds with

 ?

A. Ag

B. Cu

C. Cd

D. Pb

Answer: D

View Text Solution

NO3

8. Ammonia was synthesised by

https://dl.doubtnut.com/l/_z9PuLAjNvCgM
https://dl.doubtnut.com/l/_CFPK1CPB4dPB


A. Priestley

B. Scheele

C. Dalton

D. Raman

Answer: A

Watch Video Solution

9. Oxidation of ammonia yield

A. 

B. 

NO2

N2O

https://dl.doubtnut.com/l/_CFPK1CPB4dPB
https://dl.doubtnut.com/l/_U0M9U1aHYAYd


C. 

D. 

Answer: D

Watch Video Solution

N2O5

NO

10. A compound of nitrogen which is explosive is

A. 

B. 

C. 

D. 

NCl3

N2O5

NH3

NF3

https://dl.doubtnut.com/l/_U0M9U1aHYAYd
https://dl.doubtnut.com/l/_lPRDlzTgDE0A


Answer: A

Watch Video Solution

11. Ammonium compound which on heating does not

give  is

A. 

B. 

C. 

D. 

Answer: D

W t h Vid S l ti

NH3

(NH4)2SO4

(NH4)2CO3

NH4NO2

NH4Cl

https://dl.doubtnut.com/l/_lPRDlzTgDE0A
https://dl.doubtnut.com/l/_WkgdV7HfKd0r


Watch Video Solution

12. Magnesium on burning in air forms a powder

which reacts with water giving a gas which turns red

litmus blue and forms white fumes with conc. HCL.

This gas is

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

O2

H2

NH3

CO2

https://dl.doubtnut.com/l/_WkgdV7HfKd0r
https://dl.doubtnut.com/l/_Xmt7UlwMMeEG


13. Which gas forms base with water?

A. HCI

B. 

C. 

D. 

Answer: C

Watch Video Solution

SO2

NH3

H2S

14.  gas can be collected by the displacement ofNH3

https://dl.doubtnut.com/l/_Xmt7UlwMMeEG
https://dl.doubtnut.com/l/_o2ZoXsp1E4WY
https://dl.doubtnut.com/l/_Ci7x8m0Tkt8V


A. Mercury

B. water

C. brine

D. conc. 

Answer: A

View Text Solution

H2SO4

15. The gas which turns red litmus blue and is highly

soluble in water is

A. NH3

https://dl.doubtnut.com/l/_Ci7x8m0Tkt8V
https://dl.doubtnut.com/l/_xVZWP9r9mFZZ


B. 

C. 

D. 

Answer: A

Watch Video Solution

Cl2

SO2

H2

16. Magnesium nitride reacts with water giving

A. 

B. 

C. 

NO2

N2O3

NH3

https://dl.doubtnut.com/l/_xVZWP9r9mFZZ
https://dl.doubtnut.com/l/_IWpGZGuPkscL


D. 

Answer: C

Watch Video Solution

NO

17. The gas which is highly soluble in water and turns

red litmus blue is

A. 

B. 

C. 

D. 

N2

SO2

NH3

O2

https://dl.doubtnut.com/l/_IWpGZGuPkscL
https://dl.doubtnut.com/l/_l9mH8bFeiCJ0


Answer: C

Watch Video Solution

18. Ammonia can not be collected over water because

A. It reacts with water

B. It is soluble in water

C. It explodes in water

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_l9mH8bFeiCJ0
https://dl.doubtnut.com/l/_Znw654EIjp7h


19. Which of the following gas is lighter than air?

A. HCI

B. 

C. 

D. 

Answer: C

View Text Solution

H2S

NH3

HF

20. When ammonium chloride is heated in a test tube

and red litmus is placed at the mouth of the test

https://dl.doubtnut.com/l/_Znw654EIjp7h
https://dl.doubtnut.com/l/_W2G8hmL7Suot
https://dl.doubtnut.com/l/_cAUoEU5cAXqF


tube. It first turns blue and then red because

A. the vapour of ammonium chloride are basic as

well as acidic

B. it first liberates  and then HCl gas

C. It first liberates  and then  gas

D. It first liberates HCl gas and then 

Answer: B

Watch Video Solution

NH3

Cl2 NH3

NH3

21. A gas that cannot be collected over water is.

https://dl.doubtnut.com/l/_cAUoEU5cAXqF
https://dl.doubtnut.com/l/_PghkpjJzuSMb


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

N2

SO2

O2

PH3

22. By passing  in the solution of , it

turns green due to

A. 

SO2 K2Cr2O7

K2CrO4

https://dl.doubtnut.com/l/_PghkpjJzuSMb
https://dl.doubtnut.com/l/_u92Z4vyNkV5K


B. 

C. 

D. 

Answer: C

Watch Video Solution

CrSO4

Cr2(SO4)3

Cr2S3

23. When  is passed through acidic solution of

potassium dichromate, then chromium sulphate is

formed. Change in valency of chronium is

A.  to +2

B.  to +3

SO2

+4

+5

https://dl.doubtnut.com/l/_u92Z4vyNkV5K
https://dl.doubtnut.com/l/_c0e2MssMDDhL


C.  to +3

D.  to +2

Answer: C

Watch Video Solution

+6

+7

24. Bleaching action of  is due to

A. reduction

B. oxidation

C. hydrolysis

D. its acidic nature

SO2

https://dl.doubtnut.com/l/_c0e2MssMDDhL
https://dl.doubtnut.com/l/_7EhQrjdoDDzn


Answer: A

Watch Video Solution

25. In the laboratory,  is prepared by

A. dil. H2SO, and sodium sulphide

B. conc.  and sodium sulphide

C. conc.  and copper heated together

D. None of the above

Answer: C

Watch Video Solution

SO2

H2SO4

H2SO4

https://dl.doubtnut.com/l/_7EhQrjdoDDzn
https://dl.doubtnut.com/l/_pAvr8ZQu2kt0


26. A solution of sulphur dioxide in water reacts with

 precipitating sulphur. Here sulphur dioxide acts

as

A. an oxidising agent

B. a reducing agent

C. an acid

D. a catalyst

Answer: B

Watch Video Solution

H2S

https://dl.doubtnut.com/l/_pAvr8ZQu2kt0
https://dl.doubtnut.com/l/_RpvHVIyIwZdW


27. Which is the correct statement?

A.  is the anhydride of sulphurous acld.

B.  is the anhydride of hydrosulphuric acid

C.  is the anhydride of nitric acid.

D. HCl is the anhydride of hydrochloric acid.

Answer: A

View Text Solution

SO2

H2S

NO2

28. The reaction between copper and hot

concentrated sulphuric acid produces

https://dl.doubtnut.com/l/_Zij2JralQ3wO
https://dl.doubtnut.com/l/_nBIlf7cShWUf


A. 

B. 

C. 

D.  ions

Answer: A

Watch Video Solution

SO2

SO3

H2

Cu+

29. When  is passed through the acidic solution

of 

A. the solution becomes blue

SO2

K2Cr2O7

https://dl.doubtnut.com/l/_nBIlf7cShWUf
https://dl.doubtnut.com/l/_IO2dQUuNWdEc


B. the solution becomes colourless

C. is reduced

D. green  is formed

Answer: D

Watch Video Solution

SO2

Cr2(SO4)3

30. Sulphur dioxide reacts with  to give

A. sulphuryl chloride

B. thronyl chloride

C. chloro sulphonic acid

PCl5

https://dl.doubtnut.com/l/_IO2dQUuNWdEc
https://dl.doubtnut.com/l/_dTHrfqWGqVt4


D. sulphur trioxide and chlorine

Answer: B

Watch Video Solution

31. When  is passed through aqueous 

sulphur is precipitated. In this reaction,  acts as

A. an oxidising agent

B. a reducing agent

C. an acld

D. a complexing agent

SO2 H2S

SO2

https://dl.doubtnut.com/l/_dTHrfqWGqVt4
https://dl.doubtnut.com/l/_mMnIRmX6ci3e


Answer: A

Watch Video Solution

32. A substance on treatment with dil. 

liberates a colourless gas which produces 

(i) turbidity with baryta water and 

(ii) turns acidified dichromate solution green. 

These reactions indicate the presence of

A. 

B. 

C. 

H2SO4

Co2 −
3

S2 −

SO2 −
3

https://dl.doubtnut.com/l/_mMnIRmX6ci3e
https://dl.doubtnut.com/l/_kwjR30Ch6PG8


D. 

Answer: C

View Text Solution

NO−
2

33.  will be obtained from the following

A. on reacting dil.  with oxygen

B. on hydrolysing dil 

C. on reacting conc.  with 

D. All of the above

Answer: C

SO2

H2SO4

H2SO4

H2SO4 Na2SO3

https://dl.doubtnut.com/l/_kwjR30Ch6PG8
https://dl.doubtnut.com/l/_ZKC1LuSvThbw


Watch Video Solution

34.  is not a

A. reducing agent

B. disinfectant

C. basic oxide

D. bleaching agent

Answer: C

Watch Video Solution

SO2

https://dl.doubtnut.com/l/_ZKC1LuSvThbw
https://dl.doubtnut.com/l/_EFKpLAcM0fJ5


35. One gas bleaches flowers by reduction and the

other gas by oxidation. These are

A.  and 

B. 

C. 

D. 

Answer: D

View Text Solution

H2S Br2

NH3 and SO3

CO2 and Cl2

SO2 and Cl2

https://dl.doubtnut.com/l/_4uPRkxNILEHU


36. Which reduction shows the oxidising nature of

?

A.  Heat

B. 

C. 

D. 

Answer: C

View Text Solution

SO2

SO2 + 2HNO3 → H2SO4 + 2NO2 +

SO2 + 2H2S → 3s + 2H2O

2SO2 + 2H2O + O2 → 2H2SO4

SO2 + 2H2O + Cl2 → H2SO4 + 2HCl

37. In the presence of moisture SO2

https://dl.doubtnut.com/l/_QTUHAWYDnNaz
https://dl.doubtnut.com/l/_j50lqWyQUq1p


A. can loss electrons

B. can gain electrons

C. can not work as oxidising agent

D. can not work as reducing agent

Answer: A

View Text Solution

38. The bleaching by  is temporary because

A.  absorbs colour for a short while and

becomes dry

SO2

SO2

https://dl.doubtnut.com/l/_j50lqWyQUq1p
https://dl.doubtnut.com/l/_8eU09BGPTom4


B.  combines with moisture and loses its

effect

C. the oxldation takes place when bleached

substance is kept in open air

D. None of the above

Answer: C

View Text Solution

SO2

39. When moist coloured flowers are added into a gas

of  the flowers are decolourised becauseSO2

https://dl.doubtnut.com/l/_8eU09BGPTom4
https://dl.doubtnut.com/l/_TY06s25Tw7E9


A.  absorbs colouring matter

B.  oxldises the vegetable colouring matter

C.  reduces the vegetable colouring matter

D.  gives colourless oxidised product

Answer: C

Watch Video Solution

SO2

SO2

SO2

SO2

40. Which of the following gases produces maximum

pollution?

A. SO2

https://dl.doubtnut.com/l/_TY06s25Tw7E9
https://dl.doubtnut.com/l/_jKKBuSzlzPah


B. 

C. 

D. 

Answer: C

Watch Video Solution

CO2

CO

H2S

41. Pure  gas is obtained by action of water on

A. 

B. 

C. rhombic S

H2S

Al2S3

FeS

https://dl.doubtnut.com/l/_jKKBuSzlzPah
https://dl.doubtnut.com/l/_zZNiVNSiNEDd


D. Colloidal S

Answer: A

View Text Solution

42. By passing  in acidified  solution we

get

A. 

B. 

C. 

D. 

H2S KMnO4

K2S

S

K2SO3

MnO2

https://dl.doubtnut.com/l/_zZNiVNSiNEDd
https://dl.doubtnut.com/l/_hV76EvVRRVqo


Answer: B

Watch Video Solution

43.  is far more volatile than water because

A. sulphur atom is more electronegative than

oxygen atom

B. oxygen atom is more electronegative than

sulphur atom

C.  has bond angle of nearly 

D. hydrogen is loosely bonded with sulphur

H2S

H2O 105∘

https://dl.doubtnut.com/l/_hV76EvVRRVqo
https://dl.doubtnut.com/l/_FdDqivu0X04m


Answer: B

View Text Solution

44.  is a

A. strong dibasic acid

B. weak monobasic acid

C. weak dibasic acid

D. strong monobasic acid

Answer: C

Watch Video Solution

H2S

https://dl.doubtnut.com/l/_FdDqivu0X04m
https://dl.doubtnut.com/l/_e867X8yl1h3I


45.  is used for precipitation of cations of

A. 2nd group

B. 2nd and 4th group

C. 3rd and 4th group

D. 4th and 5th group

Answer: B

View Text Solution

H2S

46.  on complete combustion with oxygen forms

mainly

H2S

https://dl.doubtnut.com/l/_e867X8yl1h3I
https://dl.doubtnut.com/l/_WlYV5zMgthiS
https://dl.doubtnut.com/l/_5NDHexQZCHFf


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2O and SO2

H2 and S

H2 and SO2

H2O and S

47. The ion that cannot be precipitated by both HCl

and  is

A. 

H2S

Ag+

https://dl.doubtnut.com/l/_5NDHexQZCHFf
https://dl.doubtnut.com/l/_9KYvuHgTL6Py


B. 

C. 

D. 

Answer: D

Watch Video Solution

Cu+

Pb2 +

Sn2 +

48. Which of the following gases turns lead acetate

paper black?

A. 

B. 

SO2

SO3

https://dl.doubtnut.com/l/_9KYvuHgTL6Py
https://dl.doubtnut.com/l/_cHp5XIDzdppo


C. 

D. 

Answer: C

Watch Video Solution

H2S

H2SO4

49. Which of the following mixtures would give a

black precipitate on passing  through its acidified

aqueous solution?

A. 

B. 

C. 

H2S

Cu2 + and Pb2 +

Zn2 + and Mg2 +

Mg2 + and Fe2 +

https://dl.doubtnut.com/l/_cHp5XIDzdppo
https://dl.doubtnut.com/l/_x5a1sFbzEhq3


D. 

Answer: A

View Text Solution

Mg2 + and Ni2 +

50. A mixture of  can be separated

for identification by

A. passing  in acidic medium

B. passing  in alkaline medium

C. passing  in neutral medium

D. passing  in dry mixture

Cu2 + and Ni2 +

H2S

H2S

H2S

H2S

https://dl.doubtnut.com/l/_x5a1sFbzEhq3
https://dl.doubtnut.com/l/_DP3XBrOA7W39


Answer: A

View Text Solution

51. Passing  through nitric acid produces

A. plastic sulphur

B. monoclinic sulphur

C. rhombic sulphur

D. amorphous sulphur

Answer: D

Watch Video Solution

H2S

https://dl.doubtnut.com/l/_DP3XBrOA7W39
https://dl.doubtnut.com/l/_Jcb3FybiS6s2


52.  does not produce metallic sulphide with

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

H2S

CdCl2

ZnCl2

COCl2

CuCl2

53. The geometry of  and its dipole moment areH2S

https://dl.doubtnut.com/l/_Jcb3FybiS6s2
https://dl.doubtnut.com/l/_NHmhHVG2XSyH
https://dl.doubtnut.com/l/_ZxSylYGDfdWg


A. angular and non-zero

B. angular and zero

C. Iinear and non-zero

D. linear and zero

Answer: A

View Text Solution

54. Which statement about  is false?

A. It is a covalent compound.

B. It is a gas with bad smell.

H2S

https://dl.doubtnut.com/l/_ZxSylYGDfdWg
https://dl.doubtnut.com/l/_VI4EZ0uikrDd


C. It is a stronger reducing agent than water.

D. It is a weak base in water.

Answer: D

View Text Solution

55. It Kipp's apparatus,  is prepared

A. continuously

B. by the action of dil  on iron sulphide

C. by the action of dil.  on copper sulphide

D. by the action of dil. HCl on iron sulphide

H2S

H2SO4

H2SO4

https://dl.doubtnut.com/l/_VI4EZ0uikrDd
https://dl.doubtnut.com/l/_BVQAjmO976x5


Answer: B

View Text Solution

56. Mark the compound which is acid?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2S

H2O

NH3

NaOH

https://dl.doubtnut.com/l/_BVQAjmO976x5
https://dl.doubtnut.com/l/_Ko8J9Eb74o6E


57.  gas is obtained by treating  with

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

H2S H2SO4

NH4Cl

FeS

ZnCl2

NaCl

58. A piece of filter paper dipped in 

solution turns black when it is brought in the gas

Pb(NO3)2

https://dl.doubtnut.com/l/_Ko8J9Eb74o6E
https://dl.doubtnut.com/l/_XKiOOt0aL4c5
https://dl.doubtnut.com/l/_Vdf2Pt78egho


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

Cl2

H2S

SO2

N2

59.  gas turns litmus paper

A. blue

B. green

H2S

https://dl.doubtnut.com/l/_Vdf2Pt78egho
https://dl.doubtnut.com/l/_ylDJbWPS8Oj4


C. red

D. colourless

Answer: C

Watch Video Solution

60. Which of the following gives white precipitate

with 

A. 

B. 

C. 

H2S

MnCl2

CuSO4

HgCl2

https://dl.doubtnut.com/l/_ylDJbWPS8Oj4
https://dl.doubtnut.com/l/_CJZs9Bi7n4yN


D. 

Answer: D

View Text Solution

ZnCl2

61. In laboratory HCl gas is obtained by heating the

following compounds

A. 

B. 

C. 

D. 

H2O + Cl2

H2 + Cl2

NH3 + Cl2

NaCl + H2SO4

https://dl.doubtnut.com/l/_CJZs9Bi7n4yN
https://dl.doubtnut.com/l/_6fi5K8spivNi


Answer: D

View Text Solution

62. Which of the following is most volatile?

A. HCI

B. HF

C. HBr

D. HI

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_6fi5K8spivNi
https://dl.doubtnut.com/l/_D8wzouQShJKG


63. On heating manganese dioxide with conc. HCI,

which of the following is evolved?

A. Chlorine

B. Oxygen

C. Chlorine monoxide

D. Hydrogen

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_D8wzouQShJKG
https://dl.doubtnut.com/l/_mhaZVd6ZRyMw


64. In aqua-regia preparation (3HCI+  ....)

the resulting products are

A. 

B. 

C. 

D. 

Answer: C

View Text Solution

HNO3 →

H2 + O2 + NO2 + Cl

NOCl2 + Cl + H2O

NOCl + H2O + Cl

NCl3 + H2O

https://dl.doubtnut.com/l/_5yhTuZVXFEBm


65. Which of the following gases can be dried by conc.

 ?

A. HCl

B. HBr

C. HI

D. 

Answer: A

Watch Video Solution

H2SO4

H2S

66. The type of bonding in HCl molecule is

https://dl.doubtnut.com/l/_VdfqKZiHvCc6
https://dl.doubtnut.com/l/_k2i6cpYu9l1Q


A. pure covalent

B. polar covalent

C. highly polar

D. H-bonding

Answer: B

View Text Solution

67. Which of the following pair will give chlorine gas

most quickly, upon reaction ?

A. HCl and KMnO4

https://dl.doubtnut.com/l/_k2i6cpYu9l1Q
https://dl.doubtnut.com/l/_LZUdsgnDSzZV


B. NaCl and 

C. NaCl and 

D. 

Answer: A

Watch Video Solution

H3PO4

MnO2

CaCl2 and Br2

68. Hydrochloric acid at  is

A. ionic and liquid

B. covalent and liquid

C. lonic and gas

25∘C

https://dl.doubtnut.com/l/_LZUdsgnDSzZV
https://dl.doubtnut.com/l/_cQQ8BqmRr09u


D. None of these

Answer: D

Watch Video Solution

69. The reaction of  and HCl results in

A. oxidation of Mn in  and production of 

B. reduction of Mn in  and production of 

KMnO4

KMnO4

Cl2

KMnO4

H2

https://dl.doubtnut.com/l/_cQQ8BqmRr09u
https://dl.doubtnut.com/l/_MTg52rKfoPJY


C. oxidation of Mn in  and production of 

D. reduction of Mn in  and production of 

Answer: D

View Text Solution

KMnO4

H2

KMnO4

Cl2

70. When NaCl is heated with conc.  and solid 

 we get

A. chromic chloride

H2SO4

K2Cr2O7

https://dl.doubtnut.com/l/_MTg52rKfoPJY
https://dl.doubtnut.com/l/_CKm2zNN5xcM5


B. chromous chloride

C. chromyl chloride

D. chromic sulphate

Answer: C

View Text Solution

71. One of the product of reaction between solid

 and conc. HCl is

A. a red liquid

B. a greenish yellow gas

KMnO4

https://dl.doubtnut.com/l/_CKm2zNN5xcM5
https://dl.doubtnut.com/l/_FPBbL25nOumr


C. 

D. 

Answer: A

View Text Solution

MnO2

HClO4

72. It has been observed that gaseous HCl is very poor

conductor of electricity. But a solutions of HCl in

water is a good conductor. This is due to the reason

that

A. water is a good conductor of electricity

B. HCI In water solution lonises

https://dl.doubtnut.com/l/_FPBbL25nOumr
https://dl.doubtnut.com/l/_FX2E2W82tGJW


C. a gas cannot conduct electricity but a liquid can

D. HCI gas does not obey Ohm's law where as the

solutions does

Answer: B

Watch Video Solution

73. Dilute solution of HCl cannot be concentrated

beyond 22.2% by boiling because

A. HCI is very volatile

B. HCI is very soluble in water

https://dl.doubtnut.com/l/_FX2E2W82tGJW
https://dl.doubtnut.com/l/_ZtVLHaRr09W7


C. HCI gives a constant bolling mixture with water

D. HCI gives saturated solution at this

concentration

Answer: C

View Text Solution

74. Aqua-regia contains conc. HCl and conc.  in

the ratio of

A. 

B. 

HNO3

1: 3

3: 1

https://dl.doubtnut.com/l/_ZtVLHaRr09W7
https://dl.doubtnut.com/l/_HW6NR20KAxrv


C. 

D. 

Answer: B

Watch Video Solution

1: 3

1: 5

75. HCl is dried by

A. 

B. 

C. conc. HCl

D. None of the above

P4O10

CaO

https://dl.doubtnut.com/l/_HW6NR20KAxrv
https://dl.doubtnut.com/l/_KUC9mCX5daG5


Answer: C

View Text Solution

76.  reacts with HCl to give a precipitate of

AgCl which is of

A. green colour

B. white colour

C. yellow colour

D. black colour

Answer: B

Vi T t S l ti

AgNO3

https://dl.doubtnut.com/l/_KUC9mCX5daG5
https://dl.doubtnut.com/l/_OCXBwdXc9ixo


View Text Solution

77. Hydrogen chloride gas gives white fumes with

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

NH3

N2

Cl2

O2

https://dl.doubtnut.com/l/_OCXBwdXc9ixo
https://dl.doubtnut.com/l/_V0axj0AvrTjp

